= o
A & 0l & AF 2 E A A
20198 = =0l &b 2B M
A= SXAL= M ARSI =X
Hu: I ZMBEE
O HASHEMSGHY S (29l 8)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
sNHL= 2,028,441,060 1,799,845,497 228,595,563
= 1,600,690,684
s 17,150,599
J| 79,298,237
< 331,301,540
A2l = X2t 458,212,820 442,263,556 15,949,264
= 308,161,544
s 12,677,590
J| 36,180
< 137,337,506
IZMEEH 323,015,838 333,061,001 A 10,045,163
= 289,157,439
J| 36,180
< 33,822,219
HASHESAS tH L &S 323,015,838 333,061,001 A 10,045,163
= 289,157,439
J| 36,180
< 33,822,219
RSN XE 192,000 192,000 0
307 21201 A 120,000 120,000 0
11T MISAASEX 120,000 120,000 0
OZAZEWI2AXN A 120,000
308 MtXIEHSOIH 72,000 72,000 0
01 HXNHHNBHELS 72,000 72,000 0
FEOA2ENEA 18,000
OJ=Z=YWIRIXNA(FUEA) 54,000
[ ZMESESHI R (HAH) 271,769,900 276,429,340 A 4,659,440
= 244,566,000
= 27,203,900
308 XtXIEHH SOl A 271,769,900 276,429,340 A 4,659,440
= 244,566,000
= 27,203,900
01 AXHHILEES 271,769,900 276,429,340 A 4,659,440
O3 =MEBES0H(MASOH) 271,769,900
= 244,566,000
= 27,203,900
S ZMEBEHSHIF (LK) (ZNHAEIE) 489,636 452,405 37,231
308 AHAIEHHSOIA 489,636 452,405 37,231
08 WSII20HetE = 489,636 452,405 37,231
O=3200=M4830(Rs30) 489,636
S| =MESEZ 0 X2 (o AHE ) 2,668,685 2,002,023 666,662
= 2,480,000
< 188,685
308 XXM SO0l A 2,668,685 2,002,023 666,662




oW

248,400

SXAL= M A= X
MR
HASHBAMNSOHYSE CER-ED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
= 2,480,000
< 188,685
01 IXNHHBNEES 2,668,685 2,002,023 666,662
O30 =Ma830 (HAERS0) 2,668,685
= 2,480,000
< 188,685
AS=XRH AL 5,910,350 5,160,000 750,350
= 5,498,000
< 412,350
308 XX EHHSOIA 5,910,350 5,160,000 750,350
= 5,498,000
< 412,350
01 AXNHHEBAMNEES 5,910,350 5,160,000 750,350
O2g=2X X &AL 5,910,350
= 5,498,000
= 412,350
SSAAB2AAK 2 1,441,700 1,415,792 25,908
2 1,109,000
< 332,700
308 AHAIEHHSOIA 1,441,700 1,415,792 25,908
= 1,109,000
< 332,700
01 AXNSHBLEES 1,441,700 1,415,792 25,908
O SEAtel 22l ALK & 1,441,700
= 1,109,000
< 332,700
Atell 2te| At X & 224,250 224,250 0
= 172,500
< 51,750
308 XXM SOIA 224,250 224,250 0
= 172,500
< 51,750
01 IXNSHHBANEES 224,250 224,250 0
At 22l At X & 224,250
= 172,500
< 51,750
AbS] = Xl Q12401 24 1| X & 2,180,400 3,673,500 21,493,100
= 1,932,000
< 248,400
308 XX EHHSOIA 2,180,400 3,673,500 A 1,493,100
= 1,932,000
< 248,400
01 AXSHBELS 2,180,400 3,673,500 A 1,493,100
O&FAts =Xl HH| X & 2,180,400
1,932,000




A= SXAL= M A= X
MY | ZMEPH
S MASHSMtE LSS (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
SHSXEESHAMUATE 2,203,152 2,203,152 0
= 1,952,160
< 250,992
308 AHAIEHHSOIA 2,203,152 2,203,152 0
= 1,952,160
< 250,992
01 HIXNHHNBHELS 2,203,152 2,203,152 0
ODSHsSYEsgdSEMbIAXIE 2,203,152
= 1,952,160
< 250,992
ROIt== XN MBI AR S XA 52,056 2,177,335 N2,125,279
J| 36,180
< 15,876
403 MtXISHH S0l & 52,056 2,177,335 AN2,125,279
J| 36,180
< 15,876
01 X SN2 L= 52,056 2,177,335 AN2,125,279
OX0tH==sXNAMEIAXE X 52,056
J| 36,180
< 15,876
NE2Z ALY 22,447,268 20,249,658 2,197,610
= 21,378,350
< 1,068,918
308 XX €A S0l 22,447,268 20,249,658 2,197,610
= 21,378,350
< 1,068,918
01 HXNHHNBHEELS 22,447,268 20,249,658 2,197,610
OXNEIZAY 22,447,268
= 21,378,350
=) 1,068,918
NATEEdH2GH XA 3,977,389 3,981,600 A4,211
= 3,524,269
=) 453,120
308 X EHSOIA 3,977,389 3,981,600 A4, 211
= 3,524,269
< 453,120
01 HIXNHHBMNEES 3,977,389 3,981,600 A4,211
OXNS NS XA 3,977,389
= 3,524,269
< 453,120
AHE AN & O AH A& SOt Y 18,000 18,000 0
307 glz2+ol & 18,000 18,000 0
11T MISAASEX 18,000 18,000 0
OXNEMITHLXEE0HE 18,000




A= SXAL= M A= X
MY | ZMEPH
S MASHSMtE LSS (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
AL At 2 el At 109,930 108, 340 1,590
= 97,409
< 12,521
308 AHAIEHHSOIA 109,930 108,340 1,590
= 97,409
< 12,521
01 HIXNHHNBHELS 109,930 108, 340 1,590
I XHE Atedl 22l 109,930
= 97,409
< 12,521
S|AIBEHE(II=E) 676,570 1,003,452 A 326,882
= 632,000
< 44,570
308 XXM SO A 676,570 1,003,452 A 326,882
= 632,000
< 44,570
01 AXHHILEES 676,570 1,003,452 A 326,882
Odsigigs&(l=x) 676,570
= 632,000
< 44,570
S|AISSE(XA) 2,036,234 2,860,747 A 824,513
= 1,901,000
< 135,234
308 MtXIEHMSOIH 2,036,234 2,860,747 A 824,513
= 1,901,000
= 135,234
01 HXNHHNBHEELS 2,036,234 2,860,747 A 824,513
OslYISSE (X&) 2,036,234
= 1,901,000
=) 135,234
Helssd 236,616 337,333 A 100,717
= 220,000
< 16,616
308 X EHSOIA 236,616 337,333 A100,717
= 220,000
< 16,616
01 HIXNHHBMNEES 236,616 337,333 A 100,717
Ougss% 236,616
= 220,000
< 16,616
FA5AI=ZSH 1,369, 101 572,853 796,248
= 1,277,000
< 92,101
308 XXIEHH SOl A 1,369, 101 572,853 796,248
= 1,277,000
< 92,101




A= SXAL= M A= X
MY | ZMEPH
S HASHSAMONYSS CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 1,369,101 572,853 796,248
Od349sya8sd 1,369,101
= 1,277,000
< 92,101
AT EHSAR =S 55,440 59,472 A 4,032
307 glz2+ol & 15,120 15,120 0
11T MISRASER 15,120 15,120 0
OZBATEHEHSMAE 15,120
308 MtXIEHSOIH 40,320 44,352 A4,032
01 HXNHHNBHELS 40,320 44,352 24,032
OXNSNEHMEHS AR =S 40,320
AHEELSHALEHI A& 150,000 150,000 0
308 XX EHSOIA 150,000 150,000 0
01 HIXNHHNBMNEES 150,000 150,000 0
OXEed3ASH X 150,000
C==TAME2E 2,375,673 2,233,534 142,139
= 1,662,971
< 712,702
308 XXM SOIA 2,375,673 2,233,534 142,139
= 1,662,971
=) 712,702
01 AXHHBILEES 2,375,673 2,233,534 142,139
OL=0s3XAd=2d 2,375,673
= 1,662,971
< 712,702
C=So=sTAEsES 57,200 101,261 A 44,061
= 44,000
< 13,200
403 A X EHHS 20l A 57,200 101,261 A 44 061
= 44,000
< 13,200
01 X HHMA=LE L 57,200 101,261 A 44,061
O=eSTAEIIs2ZAY 57,200
= 44,000
< 13,200
S STAE Y AT e E | 2,970 3,060 A 90
308 XX EHSOIA 2,970 3,060 A 90
01 HIXNHHNBMNEES 2,970 3,060 A90
O=eodsiE 2,970
SSMAZACUTESRIANSE 18,000 18,000 0
307 21201 A 18,000 18,000 0
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A= SXAL= M A= X
Hu: I ZMBEE
S MASHSMtE LSS (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 23,940
< 10,265
11T M SXASEX 34,205 33,600 605
OAaE XA PE2F 34,205
= 23,940
< 10,265
PNRS-DNR-Full= o = ) B 367,728 0 367,728
2 325,840
< 41,888
403 XIS E X201 & 367,728 0 367,728
2 325,840
< 41,888
01 AXSHHMA2E = 367,728 0 367,728
OXNSXEHEHSE A 367,728
= 325,840
= 41,888
KNS Ate S X MY A 25t 39,182,432 30,711,994 8,470,438
2 19,004,105
s 11,957,590
< 8,220,737
NAAS EX AL =& 39,182,432 30,711,994 8,470,438
= 19,004,105
s 11,957,590
< 8,220,737
NETESH A MBI ASE XA 10,500,319 9,373,118 1,127,201
2 9,445,500
< 1,054,819
308 A EHHSOIA 10,500,319 9,373,118 1,127,201
= 9,445,500
< 1,054,819
01 HXNHHNBHELS 10,500,319 9,373,118 1,127,201
OXNSASNMEAETRAG (REEY) 10,500,319
ras 9,445,500
= 1,054,819
NEAS MBI AXNRE2Y 285,000 280,000 5,000
as 199,500
< 85,500
307 glz2tol & 285,000 280,000 5,000
s 199,500
< 85,500
11T MISRASEX 285,000 280,000 5,000
OXGAMSMEBIAXRH2I(DESY) 285,000
s 199,500
< 85,500
M3 SXAIE S AR Q& X & 701,434 588, 186 113,248
= 491,004




AR 2X2AHL=2 2M @ Al =X
H: XSAMS=SXMHEAZS
Sl KIGASISRAY =T (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 210,430
307 2iz2to| A 701,434 588, 186 113,248
= 491,004
= 210,430
11T AISIEXAIEEX 701,434 588, 186 113,248
[OAISIEXAIES AR X & 701,434
= 491,004
& 210,430
IFAIFE S 20| A Y 2,425,374 2,098,232 327,142
Fag 2,205,000
& 220,374
308 MXISHMSOIA 2,425,374 2,098,232 327,142
Ry 2,205,000
& 220,374
01 IXHHIMNEXTZ 2,425,374 2,098,232 327,142
OJINZHE ELROIAMNYE (RESY) 2,425,374
g 2,205,000
= 220,374
AN=SEANIISANSSE2I2I XN 120,000 70,000 50,000
307 2I2t0| & 120,000 70,000 50,000
10 M SXANEEHESIGHEX 120,000 70,000 50,000
OFA=SCASENZES2232HENE 120,000
AMIEXNAS L LG 30,000 30,000 0
201 LBt 10,000 10,000 0
03 A2 EH| 10,000 10,000 0
OAISIEX&8 24235 10,000
308 AMXISHMSOIA 20,000 20,000 0
01 IXHHIMNEXZ 20,000 20,000 0
OAIE = X o1 S 2k 25 20,000
AMSISXNAIEEFEAAB D= 9,000 9,000 0
307 212t0| & 9,000 9,000 0
11 A EXAIEEX 9,000 9,000 0
OAISISXAIEEEAIAB D= 9,000
HUQQAAEI I sEL 3,123,299 291,175 2,832,124
= 2,402,537
& 720,762
403 XX SHHS K20 & 3,123,299 291,175 2,832,124
= 2,402,537
& 720,762
01 XIS A2 X 3,123,299 291,175 2,832,124
OJAAMQAANE)sE2 3,123,299
= 2,402,537




M ox
40 5 4

D EXAE= M AEI =S X

D ANEAMSIEX AL A
D NGAS S XA =&

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
| < 720,762
MEISXANESAMAEZ WS 72,000 72,000 0
307 gl2tol & 72,000 72,000 0
IEEY EEE: 72,000 72,000 0
OASZSXNAIESANEZ2NE 72,000
ZAEZAS=EXNEAS 2SN 190,000 170,000 20,000
307 glz2tol & 170,000 170,000 0
03 BIAHNHE2IHIEE 170,000 170,000 0
OZasz A Sgds 29X 170,000
402 RIZ2EXt20l ™ 20,000 0 20,000
01 2IZt Xt 2 AL E = (REA ) 20,000 0 20,000
OZd=AMSXE2AAMRAISHA 20,000
A2l S X2 & el A 30,000 30,000 0
307 21201 A 30,000 30,000 0
11 A S XAEE = 30,000 30,000 0
COALSI S X2 & el A 30,000
BEXAAES S KIALA &5 106,000 81,000 25,000
307 glz2tol & 91,000 81,000 10,000
11T M SXAISE EX 91,000 81,000 10,000
OZ =X S ALE =S XA &S 27,000
OZ=SXNSAMSAMEF=NF 64,000
308 AHAIEHHSOIA 15,000 0 15,000
01 HIXNHHNBMNEELS 15,000 0 15,000
OZ4=EMESIAMMSHE 15,000
AN EXNZEHH2 150,000 130,000 20,000
307 glz2tol & 150,000 130,000 20,000
11T M Z2XASE EX 150,000 130,000 20,000
OAM=SNEEMEH2SE 150,000
FUSEASEHINAME2E 50,000 40,000 10,000
307 21201 A 50,000 40,000 10,000
11T MISAASEX 50,000 40,000 10,000
O3S A SN2 50,000
ZE20SMS X 30,600 31,500 A 900
307 21201 A 3,600 4,500 A 900
1A SXIAMEE X 3,600 4,500 A 900
OE202SAME2d 3,600
308 XXM SO A 27,000 27,000 0




M ox
40 5 4

D EXAE= M AEI =S X
D NG ASI =S X AME A Z
D NGAS S XA =&

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 27,000 27,000 0
OZ20=SAMEXE 27,000
HAZSHMAANENSUS 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
11T MISRASEX 10,000 10,000 0
O3 =2ZAUQLALHSHE 10,000
ArS| S X 2t F At XHAIOI L 13,500 13,500 0
307 21201 A 13,500 13,500 0
11T MISXASEEX 13,500 13,500 0
LAl = X 2 S AFXEAID] L 13,500
M SXAELAXNHE S 235,858 226,310 9,548
301 gtEd= 235,858 226,310 9,548
01 MI2ZE 6= 235,858 226,310 9,548
OMBISXANELALTRZAE 235,858
FAUQAANE L AR AZ XS 17,550 19,500 A1,950
308 XX EHSOIA 17,550 19,500 A1,950
01 IXNSHHBNEES 17,550 19,500 A 1,950
OFNMNQEANEL AT AZS XA 17,550
MBI EXAEEAR=E 143,392 124,848 18,544
308 XtXIEHH SOl A 143,392 124,848 18,544
01 AXHHILEES 143,392 124,848 18,544
OA=SXAIESA NS 143,392
ALSI S X2t S 3HAHY 84,000 84,000 0
308 MtXIEHMSOIH 84,000 84,000 0
01 HXNHHNBHELS 84,000 84,000 0
OARI =X 2 E5HALS 84,000
A2l S 2tAtell 22l Ar2 E X & 80,000 80,000 0
308 XX EHSOIA 80,000 80,000 0
01 HIXNHHNBMNEELES 80,000 80,000 0
COOAtEI S X 2tArell 2t el A2 E X1 & 80,000
FUQAANERS 8,098, 136 7,846,715 251,421
= 7,175,564
< 922,572
308 XXM SO0l A 8,098,136 7,846,715 251,421
= 7,175,564
< 922,572
01 AXHHBILEES 8,098, 136 7,846,715 251,421
OBMUQAANELE2S 8,098,136
= 7,175,564




M ox
40 5 4

D ENAL= = A
TN

225t
D AG AR SR AL =&

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
| = 922,572
A2 NH2I9(&H) 2,547,000 2,381,000 166,000
306 23 2,547,000 2,381,000 166,000
01 52 2,547,000 2,381,000 166,000
OS2 1,647,000
D= THE AN HI 900,000
FAEENNS0)=se2Y 14,520 13,200 1,320
201 et 9| 14,520 13,200 1,320
01 AR 2t2l ] 9,240 8,400 840
OJexs 9,240
OZFsEXNS0)IsE AR 9,240
02 2224 5,280 4,800 480
[ XH k& BHY| 5,280
OBEEXNS0I=sE NS 5,280
AL S X CIU IS & 2 AA & 15,000 45,000 A 30,000
308 XAHXIGH SO0l & 15,000 15,000 0
01 AIKISHHENEXZ 15,000 15,000 0
COAMSEXAUINESS S HALX S 15,000
I R==PNIE=PNE=I= = R DN PN 2,000 2,000 0
303 ZAZ2 2,000 2,000 0
01 ZAZ 2,000 2,000 0
OAMSEXNFTENRSE2ESF A4 2,000
Hd=LIE20I2H8S X 27,000 27,000 0
307 2I2t0| A 27,000 27,000 0
11 A EXAIEEX 27,000 27,000 0
=202 43 X 27,000
KNBAS HEBIAETAIE2H 10,000 10,000 0
Fag 7,000
& 3,000
201 LBt 10,000 10,000 0
Fag 7,000
& 3,000
01 AP 22| H| 10,000 10,000 0
OgetL=H| 10,000
OXNYGANINHBAERNANSHISAS(RES
e) 10,000
g 7,000
=} 3,000
NEAMIBHE AN XN 115,000 92,000 23,000
308 XAHXIGHHM SO0l & 115,000 92,000 23,000




M ox
40 5 4

23at

D EXAE= M AEI =S X
S A AME S ITAE A
D AG AR SR AL =&

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 115,000 92,000 23,000
OXGAEZEAM2 SR 115,000
NAMIEEHEAXNKNSUS XA 24,000 23,000 1,000
= 14,000
< 10,000
308 XtXI &M S0l ™ 24,000 23,000 1,000
= 14,000
< 10,000
01 AXHHILEES 24,000 23,000 1,000
OXSAMIEZEAMNESUHR XS 24,000
=2 14,000
S 10,000
AMESXRTAE L AKX 11,700 12,060 A 360
308 MtXIEHMSOIH 11,700 12,060 A 360
01 HXNHHBHELS 11,700 12,060 A 360
AR SR AIE G AXAZH & | 5,850
OMSISXAIE L AT A 5,850
KA ALS S XA = & 70,550 201,150 A 130,600
201 Ler2 | 19,650 29,650 10,000
01 AR 22/t 19,650 29,650 A 10,000
=] 8,850
OXIGAIS =TI AIR T U bt 2 | 8,850
O=2g=¢ 10,800
OXAAM=XAEA— =S L0 6,000
OXNG A =RNMEAMORARA =S L Y 4,800
202 44l 18,000 18,000 0
01 S LHOIYI 18,000 18,000 0
OXSAM=2XNHRFE0NL 18,000
203 YR =&l 12,900 13,500 A 600
03 Al F=XH R =AY 12,900 13,500 A 600
OXNSAd=SNLNASSHREFA 12,900
207 A RO 20,000 110,000 290,000
01 A3 39| 20,000 110,000 290,000
OXASANIEZAINEHE+E 20,000
XIS ASI HH AL RET 19,500 19,500 0
201 Let24d] 12,500 12,500 0
01 At 22l 12,500 12,500 0
Ogpt=2H] 12,500
OXNS MM AH LB =2H] 12,500
202 44l 7,000 7,000 0




Az SAAZ= M A= X
M NAAS 2R AEIA LS
2 NAASSXAIE F=& (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 = LH 4 bl 7,000 7,000 0
OXGA MEIAH S F=E O 7,000
EXNZ0AME ERRAA ALK 8,849,000 6,147,000 2,702,000
= 8,849,000
308 XXM SOIA 8,849,000 6,147,000 2,702,000
= 8,849,000
01 AXHHBLEES 8,849,000 6,147,000 2,702,000
O=X20fA =223 AH XA 8,849,000
= 8,849,000
ZHSE02AESKAA 660,000 0 660,000
307 21201 A 300,000 0 300,000
11 AR S XA E =X 300,000 0 300,000
OZ4SEZ0MESXAXNJAHIE (F2EC) 300,000
308 XX EHHSOIA 360,000 0 360,000
01 HIXNHHBNEES 360,000 0 360,000
OAMZO0IRKAMESXXNHHEHX 2 (=E0) 360,000
AMBIEXAEXNEESH 46,000 0 46,000
202 O4dl 15,000 0 15,000
01 = LH o4 1l 15,000 0 15,000
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01 X HHILEES 81,000 81,000 0
O=SHEUZSHFATEAEY 81,000
SHUSSEMHAUSSAHEAH A 838,500 826,217 12,283
J| 645,000
< 193,500
308 A EHHSOIA 838,500 826,217 12,283
J| 645,000
< 193,500
01 HXNHHNBHELS 838,500 826,217 12,283
OsAeossdegsse MHlA2F X
2 838,500
J| 645,000
< 193,500
CLoANE=ENEN 67,228,792 64,425,178 2,803,614
= 17,555,375
< 49,673,417
COHINE 2GS LA 13,668,630 11,149,792 2,518,838
= 4,520,190
< 9,148,440
LoNAEH 100,800 106,200 A5,400
308 XtXIEHH SOl A 100,800 106,200 A5,400
01 AXHHILEES 100,800 106,200 25,400
OLouazd 100,800
= N 2,672,950 2,337,600 335,350
308 A EHHSOIA 2,672,950 2,292,600 380,350




AR 2X2AHL=2 SR U k=2=—-D N
M. LOoANAEE2XNSE
©9l: ZOOIA LAY S (e9: & 9)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
01 AIKSHMEAMNEX= 2,672,950 2,292,600 380,350
OJZR2YEHEHAZHY|(F0IEN) 1,293,740
OFY 29X 778,360
ODE=ge2dE X 600,850
Lossgskg 2,286,300 122,600 2,163,700
307 2iztol & 60,000 50,000 10,000
11T A EXAIEEX 60,000 50,000 10,000
CTYOYO2 3 Ml JH =l 60,000
308 XX SHHSOIH 2,226,300 72,600 2,153,700
01 XHHINMNEEXTZ 2,226,300 72,600 2,153,700
ayoyoR2dosced 29,400
COYOYOS2E &2 HsH K& 36,900
NZ2YHECLR0IXRF(Z=2ENH) 2,160,000
LA KAMEHSHE 304,380 301,116 3,264
=2 152,190
o 152,190
307 2Iz2t0| & 304,380 301,116 3,264
=2 152,190
= 152,190
10 M SXNAEEHESIGHEX 304,380 301,116 3,264
OH2YZIAXNJLAEEHSHY A E 304,380
= 152,190
& 152,190
LoExssgid 5,000 5,000 0
307 gizto| A 5,000 5,000 0
11T AISIEXAIEEX 5,000 5,000 0
O EXNASANNLS 5,000
RYWLH USRI XY 8,299,200 7,277,276 1,021,924
= 4,368,000
=} 3,931,200
308 AMXISHMSOIA 8,299,200 7,277,276 1,021,924
= 4,368,000
= 3,931,200
01 IXHHIMNEEXTZ 8,299,200 7,277,276 1,021,924
JaAzgdugty| =2y X & 8,299,200
= 4,368,000
== 3,931,200
LOISXAEES 11,760,426 15,913,820 N4 ,153,394
= 7,649,142
= 4,111,284
A2 &M 22| CCTVA X 44,722 201,000 N 156,278
403 XX SHHMS X201 A 44,722 201,000 N 156,278
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A2 =SRAL= ColE=T D
Hu: COALENEA
Sl o= XALEE o HE)
2 - 4
2. 2A B G(E) - KR Ol &k o8 il HlnE2
LosiAlsEL ALY 90,000 0 90,000
403 UHXISHHSA=0l& 90,000 0 90,000
01 XM= E L 90,000 0 90,000
OLo=Ex2AI)sEL AL (F 90,000
LO=EXANERSE 41,799,736 37,361,566 4,438,170
= 5,386,043
< 36,413,693
LOI=EXANE2EXE 35,105,063 31,058, 130 4,046,933
307 glz2tol & 46,600 41,000 5,600
11T ASI S XA E = 46,600 41,000 5,600
O =XNAEMNAME AZHSASA NS 25,000
OLQ=SIANE2IEHEMEHARE 21,600
308 XXX SO0 A 35,058,463 31,017,130 4,041,333
01 HIXNHHBHELS 35,058,463 31,017,130 4,041,333
OMel2go=XNANEds32 2R 12,000
OLQEXNAESARNSS(FUEA) 1,533,816
O3J)LIN2S0HEEXNA 32,598,780
O LIN2SSAXNSHHSXE(FLEA) 913,867
LZANE2E XA 5,843,383 5,428,408 414,975
= 5,177,681
< 665,702
308 XtXIEHH SOl A 5,843,383 5,428,408 414,975
= 5,177,681
< 665,702
01 X HHILEES 5,843,383 5,428,408 414,975
OSZALE2SEXE 5,843,383
= 5,177,681
< 665,702
CONEXEHEFA 34,900 66,100 A 31,200
201 £B-2d| 5,100 31,100 226,000
01 At 22l 5,100 31,100 A 26,000
Ogpt=2H] 2,000
OLANEXNALR+EH| 2,000
O2dsg 500
OLQANEXNd2SA™a =Y 500
[E=3=3:] 2,600
OLANEXNJSRFES A 2,600
202 odl 10,500 10,500 0
01 =L o4 1l 10,500 10,500 0
O QAMEXdSR2F=E0H 10,500
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40 5 4

4324 BH . GH(3AH) - KR - BLS of 4 o4 il HI RS2
203 2R =AY 4,300 4,500 A 200
03 Al =T P =AY 4,300 4,500 A 200
OCQAEXLRFA 4,300
307 glztol & 15,000 20,000 25,000
M AMSIMNSER 15,000 20,000 25,000
OSQSXAETHESAAL 15,000
SFEAS AL QARNJ 136,000 136,000 0
= 136,000
308 Xt EHM S 01 E 136,000 136,000 0
= 136,000
01 HAHMZEES 136,000 136,000 0
Og=A=aAgese X 136,000
= 136,000
Atgrel sl X & 30,000 30,000 0
308 XXM SO0IH 30,000 30,000 0
01 XM BEES 30,000 30,000 0
OAr et S22 ALY 30,000
Mot SXAIE2Y 556,320 566,820 A 10,500
307 glztol & 60,000 70,500 A 10,500
M AMSIMNSEER 60,000 70,500 A 10,500
OMIt= =XAE AN S 15,000
OMItc EESES S 0IE A 30,000
Ot SXAIZASHAA 15,000
308 XXM S0l ™ 496,320 496,320 0
01 UAXESHHBLEES 496,320 496,320 0
Ot ESXAL2E (FE) 496,320
HorEileedl2=zg 94,070 76,108 17,962
= 72,362
< 21,708
308 Xt &M S 01 H 94,070 76,108 17,962
= 72,362
< 21,708
01 HAHHZBEEES 94,070 76,108 17,962
OS2I 2 XS AR X3 A AHALE X & 94,070
= 72,362
= 21,708
HY2HIH (S =EXN) 62,052 92,452 A 30,400
= 11,358
= 50,694
el 2 29,152 63,152 A 34,000
= 11,358
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= o
A & 0l & AF 2 E A A
20198 = =0l &b 2B M
A= SXAL= FM o EMHA=XD
Hy: H=XEA
ol FOHOIMBOIH R (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
ZoH el = Xl ot 226,009,786 189,393,279 36,616,507
= 177,366,039
J| 2,006,000
< 46,637,747
Zoe=Exsd 225,923,126 189,268,719 36,654,407
= 177,366,039
J| 2,006,000
< 46,551,087
ZOH SOt E X R 138,870,289 107,713,039 31,157,250
= 121,143,797
< 17,726,492
ZOHAUAS KA 63,290,286 53,571,285 9,719,001
= 56,080,000
< 7,210,286
308 XtXIEHH SOl A 63,290,286 53,571,285 9,719,001
= 56,080,000
< 7,210,286
01 X HHILEES 63,290,286 53,571,285 9,719,001
OXMHAASKIR 63,290,286
= 56,080,000
= 7,210,286
Zo=gXE (=) 6,347,086 6,347,983 A 897
= 5,624,000
< 723,086
308 A EHHSOIA 6,347,086 6,347,983 A 897
= 5,624,000
< 723,086
01 HXNHHNBHNEELS 6,347,086 6,347,983 A 897
Oz X& (=) 6,347,086
= 5,624,000
< 723,086
TR (HaR) 4,789,658 4,752,706 36,952
= 4,244,000
< 545,658
308 XXM SOIA 4,789,658 4,752,706 36,952
= 4,244,000
< 545,658
01 AXHHBYEES 4,789,658 4,752,706 36,952
O XA (X&) 4,789,658
= 4,244,000
< 545,658
ZOHeIel Z HI XA 3,750,711 1,785,330 1,965,381
= 3,489,033
< 261,678
308 MtXIEHSOIH 3,750,711 1,785,330 1,965,381
= 3,489,033




A YEEE: SN Zope =R B
g Zoeg=sisd
CHol: FOJQI M E OHE K| CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
== 261,678
01 IXNHHBNEES 3,750,711 1,785,330 1,965,381
J&ofelel 2l X & 3,750,711
= 3,489,033
< 261,678
USRI DX A 75,623 75,623 0
= 70,347
= 5,276
308 XX EHHSOIA 75,623 75,623 0
= 70,347
< 5,276
01 X HHILEXS 75,623 75,623 0
OFMHAEZIIIIXA 75,623
= 70,347
< 5,276
FUSSHMNE2E 48,100 48,100 0
= 37,000
< 11,100
308 AHXIEHHSOIA 48,100 48,100 0
= 37,000
< 11,100
01 HIXNHHNBMNELS 48,100 48,100 0
OZSsSEMNE2SE 48,100
= 37,000
< 11,100
O AHAEYA0E2 X 86,761 86,761 0
= 76,877
< 9,884
308 XXM SOl A 86,761 86,761 0
= 76,877
< 9,884
01 AXHHILEES 86,761 86,761 0
OO AHAELA00EESXE 86,761
= 76,877
< 9,884
O ESXNIASHXA 47,970,852 31,026,686 16,944,166
= 42,505,818
< 5,465,034
308 MtXIEHMSOIH 47,970,852 31,026,686 16,944,166
= 42,505,818
< 5,465,034
01 HXNHHBHELS 47,970,852 31,026,686 16,944,166
OsXd30(H2H) 47,970,852
= 42,505,818
=) 5,465,034




AR =xA2R SN FHSTD
Hy: H=XEA
Chol: EO) O A SO X 2 (SHol: @)
= — — L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

22X 32N 57,157 47,037 10,120
= 50,645
< 6,512

308 AHAIEHHSOIA 57,157 47,037 10,120
= 50,645
< 6,512

01 HIXNHHNBHELS 57,157 47,037 10,120
OZSHMNAESEXINAMZ(BIRH) 57,157
2 50,645
< 6,512

ZOHAU=S XL X2l AL 3,952,313 3,215,784 736,529
= 3,040,197
< 912,116

308 XXM SO A 3,952,313 3,215,784 736,529
= 3,040,197
< 912,116

01 AXHHILEES 3,952,313 3,215,784 736,529
XM S XL Atel AL 3,952,313
= 3,040,197
< 912,116

Foj et ATl ALY 5,977,894 4,691,541 1,286,353
= 4,598,380
< 1,379,514

308 XX EHH SOl A 5,977,894 4,691,541 1,286,353
= 4,598,380
= 1,379,514

01 HXNHHNBHEELS 5,977,894 4,691,541 1,286,353
O Lt dXtel X3 AS 5,977,894
= 4,598,380
< 1,379,514

Zopolders A X2l AL (AIZHAL) 983,443 755,700 227,743
= 756,482
< 226,961

308 X EHSOIA 983,443 755,700 227,743
= 756,482
< 226,961

01 HIXNHHBMNEES 983,443 755,700 227,743
COIEoHeldBrE A Xtel At (Al2EA) 983,443
= 756,482
< 226,961

Al 2L ZHOH QI HOFAFTIHA AHS 451,121 443,040 8,081
= 419,646
< 31,475

308 XXl ©HAI S 0 & 451,121 443,040 8,081
= 419,646
< 31,475




AR 2X2AHL=2 A  ZOoHI =S X
M ZOjQ=NEN
el mOjOIMEBOIE R CER-ED
L=
AR .24 - FHH .G (3H) - NSAY - BES Ol At o ﬁlgﬁ HRE2
01 AIKSHMEAMNEX= 451,121 443,040 8,081
[TAIZFEOH QI OO AFIIFA AFE 451,121
= 419,646
o= 31,475
EXSNHAEHHQI2HESHH X & 41,000 41,000 0
308 XNXISHH SO0l & 41,000 41,000 0
01 HXHHIMNEXS 41,000 41,000 0
(S48t DHASZOHOI2A TS X 41,000
OSSN (KA) 851,500 731,500 120,000
308 AMXISHMSOIA 851,500 731,500 120,000
01 AIXSHMENEXZ 840,000 720,000 120,000
DX SSEXZAMHAXR(FLIEN) 840,000
10 2| 2SN OUHSHE A XA E A Y| 11,500 11,500 0
O EESEXTNLHAXNARAE =22 11,500
USSP QLUBSAIE LR ALY 196,784 92,963 103,821
= 151,372
& 45,412
308 MXISHMSOIA 196,784 92,963 103,821
= 151,372
& 45,412
01 IXHHIMNEEXTZ 196,784 92,963 103,821
YUY HHALAEBSAIEZ L X Al 196,784
= 151,372
o=t 45,412
SOl =2 XX & =Y 16,266,050 13,047,267 3,218,783
= 9,319,600
= 6,946,450
SO MASEHIHAIES2A 164,410 161,470 2,940
= 65,764
= 98,646
307 2I2t0| ™ 164,410 161,470 2,940
= 65,764
o= 98,646
10 M SXNANEEHESIGHEX 164,410 161,470 2,940
O MAIZEHOHAIE R 164,410
= 65,764
= 98,646
A WEX (XA 45,000 45,000 0
= 31,500
& 13,500
307 2iz2to| A 45,000 45,000 0
= 31,500
& 13,500
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40 5 4

CeEfHA= S EOHQ

o -

D HM=EXSE
DA X

|

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 45,000 45,000 0
O =X A A 45,000
= 31,500
< 13,500
HEZHMHI WX (XE) 60,475 59,346 1,129
= 53,585
< 6,890
308 XXIEHH SOl A 60,475 59,346 1,129
= 53,585
< 6,890
01 AXHHILEES 60,475 59,346 1,129
O A 2 S HEU XA 60,475
= 53,585
S 6,890
AT =AHI EX 2 AL 75,050 83,514 A 8,464
= 66,500
< 8,550
308 MtXIEHMSOIH 75,050 83,514 A 8,464
= 66,500
< 8,550
01 HXNHHNBHELS 75,050 83,514 A 8,464
OW&ZM =4S 75,050
= 66,500
= 8,550
ESTMANSHE(IL)SIEXE 180,000 177,880 2,120
= 124,376
< 55,624
308 XX EHHSOIA 180,000 177,880 2,120
= 124,376
< 55,624
01 IXNHHBNEES 180,000 177,880 2,120
O=SSZMAXNSME(IL)2L XS 180,000
= 124,376
< 55,624
NEFOHIXRMEH2SE 398,000 398,000 0
307 21201 A 130,000 130,000 0
11T MISAASEEX 130,000 130,000 0
OEXHYEMWAXNBLMHZ2SA 130,000
308 A EHHSOIA 268,000 268,000 0
01 HXNHHNBHEELS 268,000 268,000 0
OAMZXNEHFEHAXNZLEH2SE 268,000
O THEXR2HHZ S 48,000 59,000 A 11,000
308 XXM SO A 48,000 59,000 A 11,000
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A= SXAL= M ZOHASX
Hy: H=XEA
SR HOHASHYLHAXH (&)
L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OZS 00 EHH X & Xt =3 28,000
ON& 21 Z 0 A LECHALE 20,000
OM218 25 Y HFXN A =0t X S X2 30,000
O ASAUe 5,000
2o &S XA 175,000 75,000 100,000
307 21201 A 175,000 75,000 100,000
11T M3 SXAISE EX 175,000 75,000 100,000
OZ4=2C A SEH=XA 120,000
O s3INHXE 25,000
D32 =XN2SANMSUHE XA 10,000
OFMHA &S LES 20,000
O =X AR 67,384,987 65,350,893 2,034,094
= 46,902,642
J| 2,006,000
< 18,476,345
ZOHAMATHEAN LI SEZ 908,153 1,104,872 A 196,719
= 677,041
< 231,112
402 RIZ2FR201 A 80,000 23,256 56,744
= 40,000
= 40,000
02 LA TEALEZ(0IETHR) 80,000 23,256 56,744
OXOMMMELNAIE ) sEL(LRZ) 80,000
= 40,000
< 40,000
403 Ut S EX201 & 828,153 1,081,616 A 253,463
= 637,041
= 191,112
01 X HMA=2LE X 828,153 1,081,616 A 253,463
O XMATHEAL I SsES 828,153
= 637,041
< 191,112
ZOHAXATHEAIE 2 S 2,254,876 2,246,876 8,000
307 glz2tol & 50,000 42,000 8,000
11T M SRAISE EX 50,000 42,000 8,000
OXSHEMH AZ S &AL 50,000
308 XtXIEHH SO0l A 2,204,876 2,204,876 0
01 AXHHBILEES 2,204,876 2,204,876 0
OZHAXMATHEAIE 2 S 2,204,876
ZOHAN=AIE XA 1,563,239 1,517,939 45,300
201 Let24d| 73,000 30,000 43,000
01 At 22/l 73,000 30,000 43,000
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OO HFAILA AR ZO0ISH D =F 20,000
308 XXM SO A 1,470,239 1,469,939 300
01 IXNHHBNEES 1,470,239 1,469,939 300
LOEOHEIIA €2 (Fea0) 643,854
O SsHEINE2 S 155,918
OXHHAAHAFAEAMBIAX A 87,897
OZMHAANFAELE AT NS H2EHNZAR 30,000
OZMHANFAIE2Z (M) (FLEA) 541,770
DML HFAIE0I SN N=E 10,800
ZHASXAIESA A= 858,192 858,192 0
308 XX EHH SOl A 858,192 858,192 0
TAXNEHBEEXS 858,192 858,192 0
O EXNANESAUSS (F2UENA) 858,192
HOJQIAHEALI S 1,684,929 1,672,138 12,791
= 1,296,099
< 388,830
403 UHXSHHSA=0l& 1,684,929 1,672,138 12,791
= 1,296,099
S 388,830
01 XM A=2E X 1,684,929 1,672,138 12,791
OFMHANFAEISEL 1,684,929
= 1,296,099
= 388,830
ZOHCIXIGAIS HEANE 2 6,261,647 5,911,098 350,549
306 =3 652,400 652,400 0
01 &3 652,400 652,400 0
DZA4SCHSZHA=X Y 652,400
307 21201 A 1,500,000 1,450,000 50,000
10 AL SXNAIEEE2EHEX 1,500,000 1,450,000 50,000
O3M=ETHHASE=2XN22SE 1,500,000
308 XXM SO0 A 4,109,247 3,808,698 300,549
01 HIXNSHHBNEES 4,109,247 3,808,698 300,549
OAMZEMLESE=EXN22Y 227,500
D32 AZEMA=X22 666,000
U F=2AESAER2F(FLUEN) 1,056,000
O AZTHEAIE2S 114,000
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£ 5,754,738
OOEO0HIHT=AIZLED W M A & 18,041
2 13,878
= 4,163

dSdGHEEAAE 3,009,000 2,637,000 372,000
Il 2,006,000
CS 1,003,000

403 XSS A=01H 3,009,000 2,637,000 372,000
2l 2,006,000
< 1,003,000

01 HASHH =R E 3,009,000 2,637,000 372,000
OZascedgadd 3,009,000
Jl 2,006,000
S 1,003,000

NeFfolAASsI Y 193,096 190, 140 2,956
= 96,548
= 96,548

307 glztol & 193,096 190, 140 2,956
= 96,548
= 96,548

10 M SXANEEE2SHEX 193,096 190, 140 2,956
OAsgoerdassil2zd 193,096




<

n0

Kio

Hl w

A 37,900

23,900

23,900

A5,000

25,000

A 3,100

A 3,100

4,200

4,200

H3r
Wikd
RIS

124,560

90,560

90,560

60,560
60,560

30,000
30,000

Off &t 24

96,548
96,548
86,660

i

H

86,660

86,660

55,560
55,560
45,000
45,000

10,560
10,560

26,900
26,900
26,900

4,200
4,200
4,200

30
0
ol
ol

el

Al
Ok

01 At

0o
<+

1J
oll

00
+
KJ
K

wl

Hr

ol

KO

n0
o

K

®[

o

ol

KO0

202 o4 Hl

01 SLHOYI

rJ
K

®[

I

ol

o

KO0

KJ
KE
i
ol

t

<]

1254 0l

10




Al A

o o

Ol &b A

=
=

Al

"
o
aJ

=

R®l

R0

~

H

3

I+

i o
M wr
o) 1)
N R
<<l
T T
XX
A
rr a1 of

UGYIGY

~MHH

= [ Ho

Ao Ho

& oF

AN RO T

N~ (o} D o o o (e} (e} (e} (e} o o o o o o o
@ © © L0 o o Y9} 1] o o o
(a\] © © @ M~ M~ — — (8N [aV) o
= o) — — N IV ) o | < | < )
n0 s} ~ ~ = | » |[»
|2 = = <
E| —
o
D © © (e} o o (=} o [} (e} (e} o o (=} (e} (e} o
<o} o (=] Lo (=) (=) o o Yol L0 (@) (@} o o o o o
L0 [ce} [ee} (e} < < (e} (e} (o)} (e} Y] Y] o (@} «© «© o
© = = s |=|a N s < | < | < N o |o =
S — — ™ | [ — — - | = <
WHar | © < e -
w2 | € < <
RIS
O© M O N~ © 0 v O 0 v o o o o o O o O o o o o o o O o o o o o O o o o o o O o o o o
o — O 1B M ~ © — ~ O o o o O O O O O O O O O o O O o O o o O o o O (] o O o o O o
RS CNY IoIYT It |T|m @S d = 9 S 8 oo S 9 S 9 9 Tt mI9Ieel9lo o g9 8|9
DO O N~ — ™D N~ © ™D N © N~ <t Al M AN O AN O M o M w ANl o O N~ N~ I~ < <t < AN [SVEQN| (o)) [S2 N} Lo
CRI®283B83L~-|2|C ™ “ AR T A ~
al Dot S| - SDB| - © o
e ™ M~ o | o — o~
.A._ —
=
mm=s W W
or
0 N
M_ a0 Ulo
X <k 20
80 20 =<
a1 0H H o
< H ol E=) aF
o+ SIG 0 o o o k! o
=3 Ok Ok < <+ oF - ol ok HO
. = U a1 = a1 30 ol o 3T 0k
=~ = o0 =0 o U 5 Rl o oK
= mowom T T 1<) Kt K <
o] K0 moE R oo O Mo W 80 R 5 0 B) R
= K i oo 3 ol o ob Kr Rl @l il iy
oF t 3] T o H o 8 < o 20 30 = oF K & m =< <k
ol ) ~ EoR S [ TR LYY I 0 70 8 I 2 w0 Ok
. ~ < R|Do|z 0 M H &~ @d0dH 5 WA s 3 A= |3 &M | 5
= < o K- | 80 |/ <F H0 3 Wo S OF <F M0 & B oU OF 380 of T M |R|R H|% [T o ol | &
%0 o x 8 |00 [ B M0 R @ R of 8 M R O OF o1 00 R S A0 | KF |k FO | |z & | fo|no & |Ar
o X n Z (o f0k o OO OOOWMWOO HMAH O X H|D|(IF [|0F|&F || M| M|z
T v o RN O M O W O[S O |< O|av|& OH|H O~
- o By Mlz s 8 8 |8l |88 |z|&8 |8l |H
= 7 Ty M| & S < ® > i
o G f Ho Mo Ao
R0 M0 [0
a | ® 0
iy
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OZ2EBAHOYAIE LRSI 5,000
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SHEAS MBIAME ALY 7,738,506 4,595,159 3,143,347
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o= 1,546,606
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= 6,191,900
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OXOPII=H=2HIASLA(FAUEN) 390,000
oIt 2R 90,000 50,000 40,000
307 giztol & 90,000 50,000 40,000
02 QIZ2IA AAIE E X 90,000 50,000 40,000
OO0t 2I XA 90,000
=3NS AL NR2AX A 400,000 400,000 0
= 200,000
= 200,000
307 QI2t0| & 400,000 400,000 0
= 200,000
=} 200,000
02 QI2tAAMAIE E X 400,000 400,000 0
O=3 S AEoN2AXA 400,000
= 200,000
= 200,000
= 0bF kX X & 1,430,000 1,105,000 325,000
= 1,100,000
& 330,000
308 AMXIEHMSOIA 1,430,000 1,105,000 325,000
= 1,100,000
o 330,000
01 AIXSHMEMNEX= 1,430,000 1,105,000 325,000
O20tF 2T 2HH X & 1,430,000
= 1,100,000
= 330,000
BAHANZARSY 25,060 26,660 A 1,600
201 LBt Y| 6,400 8,000 A 1,600
03 Al H H| 6,400 8,000 A 1,600
OxFZZESUH2IELHnU3 6,400
308 XX SHHSOIH 18,660 18,660 0]
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OFPZESZUHEEXE 18,660
CADISAHLANEL2H 50,000 0 50,000
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01 AIXSHMENMNEX= 50,000 0 50,000
OXOtSHLAIHELS2A 50,000
HMAHAL2AZIHH RS 111,486,963 107,404,171 4,082,792
= 7,137,948
g 4,456,000
J| 74,319,522
= 25,573,493
AN 22 ALY 25,457,835 26,236,060 NT78,225
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HE: BMALBRAMAN TS
Sol: FAALSHAY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

< 60,900

308 XXM SO A 264,500 260,000 4,500
J| 203,600
< 60,900

01 IXNHHBNEES 264,500 260,000 4,500
OOsSEAEZEAMEAAY 264,500
J| 203,600
< 60,900

S SSENIHH2 S 204,690 201,500 3,190
= 157,690
< 47,000

308 XtXIEHH SOl A 204,690 201,500 3,190
= 157,690
< 47,000

01 AXHHBIYEES 204,690 201,500 3,190
De=sZdclsgldde=2d 204,690
= 157,690
= 47,000

FAUAL=EXNHEH2 S 4,029,350 1,716,000 2,313,350
Jl| 3,099,500
< 929,850

308 AAIEHHSOIA 4,029,350 1,716,000 2,313,350
J| 3,099,500
< 929,850

01 HXNHHNBHELS 4,029,350 1,716,000 2,313,350
OFMAL=NNEEH2 S 4,029,350
J| 3,099,500
< 929,850

AL RBAMALSEAY 430,126 422,500 7,626
J| 330,866
< 99,260

308 XXM SOl A 430,126 422,500 7,626
J| 330,866
= 99,260

01 IXNHHBMNEES 430,126 422,500 7,626
O MALS AL 430,126
J| 330,866
< 99,260

AL Ed LAY 120,000 0 120,000

308 MtXIEHSOIH 120,000 0 120,000

01 XML EES 120,000 0 120,000
OXasZogdAad 120,000

LA RAZFNMNAZSA 32,000 32,000 0
J| 32,000
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AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
307 glz2tol & 32,000 32,000 0
J| 32,000
05 RIZHRIE 3 32,000 32,000 0
ORI MNHALS 32,000
J| 32,000
ZAEEFNAL=ERNEHEZ S 835,500 820,800 14,700
J| 417,750
< 417,750
307 glz2+ol & 835,500 820,800 14,700
J| 417,750
< 417,750
05 RIZt2IE = 835,500 820,800 14,700
O3S ALSXNUEH2SE 835,500
J| 417,750
< 417,750
FAUTWEANE)IsE22 200,200 0 200,200
= 154,000
= 46,200
403 A X EHHS =0l A 200,200 0 200,200
= 154,000
= 46,200
01 X EHHMA=LE L 200,200 0 200,200
OZFMTHEALEISEZ 200,200
= 154,000
< 46,200
XIOH 2t el Ab e =& 520,800 520,800 0
303 L&t 3 4,800 4,800 0
01 243 4,800 4,800 0
OXIH2elMB=AEIHS &S 4,800
308 XXM SOIA 516,000 516,000 0
01 AXHHBILEES 516,000 516,000 0
OxiEsotsxd 216,000
OXIHEEH XA 300,000
X O Xl 2 5l K& AH S 1,805,313 1,654,539 150,774
Jl 1,388,703
< 416,610
308 XXM SO0 A 1,805,313 1,654,539 150,774
J| 1,388,703
< 416,610
01 IXNHHBNEES 1,805,313 1,654,539 150,774
X0 X = 2 el dl X & A 1,805,313
J| 1,388,703
< 416,610
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M HMAULAMHZRS
Sol: FAALSHAY CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
JAZSCEZAXHMEHSH 641,430 641,430 0
J| 449,001
& 192,429
307 2Iz2t0| A 641,430 641,430 0
Jl 449,001
o 192,429
05 QIZtR E 2 641,430 641,430 0
OEAAMAECZAXHAHSIG R 641,430
J| 449,001
=} 192,429
X Ot HEH 2 X & 21,825,725 23,863,748 N 2,038,023
J| 20,303,000
& 1,522,725
308 XNXIGHSO0l& 21,825,725 23,863,748 A 2,038,023
J| 20,303,000
& 1,522,725
01 HXHHBIMNEXS 21,825,725 23,863,748 AN 2,038,023
COXIOfetAINIEH &S K& 21,825,725
J| 20,303,000
o= 1,522,725
ESSANMMEB22FAHAY 16,329 0 16,329
J| 15,195
=} 1,134
308 AMXISHMSOIA 16,329 0 16,329
J| 15,195
= 1,134
01 AIXSHMENEXZ 16,329 0 16,329
O=ZESXNH 225 AAY 16,329
J| 15,195
& 1,134
Hae ALY 15,384,307 13,506,566 1,877,741
= 3,253,816
J| 7,602,875
& 4,527,616
Y AL AIE F A 21,550 21,550 0
201 gEt24 | 13,000 13,000 0
01 AP 22| H| 13,000 13,000 0
Ogsr24| 13,000
O&YHALANLSASHE 13,000
202 044l 8,550 8,550 0
01 2L HI 8,550 8,550 0
Oy 2 gRF=80H| 8,550
OOl 2L AN A (KI) 212,619 307,446 N94, 827
J| 163,553
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AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 49,066
308 XX G SO0l & 212,619 307,446 N94, 827
J| 163,553
= 49,066
01 AIKSHHENMNEXZ 212,619 307,446 N94 827
Oolol=22dgel Xzl 154,935
J| 119,181
& 35,754
CJOIOl &= &I SEAl 2221 H| 35,135
J| 27,027
& 8,108
OdHAdXLX 2| 22,549
J| 17,345
o= 5,204
ool =022 At 146,000 147,500 A 1,500
307 QI2t0| ™ 140,000 140,000 0
05 QIZtRES 140,000 140,000 0
ool =22 X¥=2d 90,000
OO ZHEEENSALY 50,000
308 XAHXIGHH SO0l & 6,000 7,500 A 1,500
01 UXEBHMBARES 6,000 7,500 A 1,500
Oolol=o g2 22 X& 6,000
StAAIEA2H X & 1,870,346 1,946,840 ANT6,494
= 1,309,242
= 561,104
308 AMXISHMSOIA 1,870,346 1,946,840 NT6,494
= 1,309,242
= 561,104
01 IXHHIMNEEXTZ 1,870,346 1,946,840 ANT6,494
Ot MEAIE2H K& 1,870,346
= 1,309,242
& 561,104
SHAI2HO| X F=EH S F L T OFSHAI O A4 A H| X & 830,644 791,376 39,268
= 415,322
= 415,322
308 XAHXIEHSOIA 830,644 791,376 39,268
= 415,322
& 415,322
01 AIXSHMEMNEX= 830,644 791,376 39,268
OstdI2t0| Y2 FE2A XA 817,302
= 408,651
=} 408,651
I RHOFSHEI O A H H| K| & 13,342
= 6,671
& 6,671




AR =xA2R = 23
M BHALZAMATRS
Sl MY EalAY (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
sheleg st Rt 2el AFe (X&) 119,704 84,242 35,462
= 59,852
< 59,852
403 UHXISHHSA=0l& 119,704 84,242 35,462
= 59,852
< 59,852
01 HXESHMA=LE L 119,704 84,242 35,462
Ostdz2tol L2 eI s22 119,704
= 59,852
< 59,852
St QNI off At 24 11| off Kt 24 &t X| & 1,274,400 1,314,000 A 39,600
= 1,274,400
308 XXM SO0 A 1,274,400 1,314,000 A 39,600
= 1,274,400
01 IXNHHBNEES 1,274,400 1,314,000 A 39,600
)8t &l QI Ti| o At 24 Tif of At 24 & X & 1,274,400
= 1,274,400
St MEAIE D522 390,000 369, 146 20,854
= 195,000
< 195,000
403 XIS E X201 & 390,000 369, 146 20,854
= 195,000
< 195,000
01 AXSHMA2E = 390,000 369, 146 20,854
JstHl et AL S22 390,000
= 195,000
= 195,000
stelH 22| X &AL 462,976 467,878 A 4,902
307 gl2tol & 452,800 452,800 0
02 It M AHEE 120,000 120,000 0
[Istdl ol X & At 120,000
05 RIZt2IEt = 332,800 332,800 0
OetdlE el At 332,800
308 MtXIEHMSOIH 10,176 15,078 A 4,902
01 HXNHHNBHEES 10,176 15,078 A 4,902
et M A DS AR =S 8,736
Ostdl AL A TH2 A XH LS AH| 1,440
Iorg2el (HE 112,500 104,735 7,765
J| 45,000
< 67,500
307 21201 A 112,500 104,735 7,765
J| 45,000
< 67,500
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02 It M AHE L 112,500 104,735 7,765
OX S HEHX & 112,500
J| 45,000
< 67,500
2ol (XH) 2,812,334 1,470,138 1,342,196
J| 2,163,334
< 649,000
308 XXIEHH SOl A 2,812,334 1,470,138 1,342,196
J| 2,163,334
< 649,000
01 AXHHILEES 2,812,334 1,470,138 1,342,196
gz 2,812,334
J| 2,163,334
S 649,000
2 TR & A 2,204,819 1,732,318 472,501
J| 1,696,015
< 508,804
308 MtXIEHMSOIH 2,204,819 1,732,318 472,501
J| 1,696,015
< 508,804
01 HXNHHNBHELS 2,204,819 1,732,318 472,501
st itel = A& 2,078,748
J| 1,599,037
= 479,711
CITHOH2E 8 Xh2t 2 126,071
J| 96,978
< 29,093
dogaeldsENA 70,000 20,000 50,000
308 MtXIEHMSOIH 70,000 20,000 50,000
01 HXNHHNBHELS 70,000 20,000 50,000
Oz sl 20,000
Ogate|ds R AALY 50,000
S HEET S HI X ALY 2,254,941 2,254,941 0
J| 1,734,570
< 520,371
308 XXM SOIA 2,254,941 2,254,941 0
J| 1,734,570
< 520,371
01 XML EES 2,254,941 2,254,941 0
OsAHE &S S A& 2,254,941
J| 1,734,570
< 520,371
St A E Ol 2el 100,000 100,000 0
201 Let24d] 100,000 100,000 0
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ol 2o bl (B9 ®R)
SA-EY . BH(3H) - NEAY - BYS 0 Ak o8 ﬁlf& HDS2
OdsH 74,974
-52 74,974,000 x1H 74,974
Oz A 354,576
-6 (262 2) 3,942 ,000& *3H x12& 141,912
-72 (255 2) 3,544,400 x5 «12& 212,664
(OFSF=ra=; 354,576,000 *1/12%50%*23] 29,548
O&FZ2=YIit= 9,960
- 250l & 130,000& x3H x12& 4,680
- 204 0| &AH~25E 0] 2t 110,000& 2~ 12& 2,640
- 1549 0l & ~20 0] 2F 80,000& x2H x12& 1,920
- 108 0| A ~154 0] BF 60,0002 x1H x12& 720
O 42,166
OA 2t =& 27,363
-HHZ 11,401 & *10A1 2t *x8H »12& 10,945
- X2 11,4013 *15A| 2t *x8H x 12& 16,418
OJIESY 8,160
- BH S Xt 40,000& x9H x12& 4,320
- JIEHDHE 20,0003 «16Y¥ x12& 3,840
osesxax< 1,843
-62UR 3,744 100 x4 . 1%*x1H « 128 1,843
OSx+g2Y 4,800
-JlEdEEsY 1,800
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672 30,000& x2H x12& 720
8= 20,000 x2H x12& 480
- RS Y 1,800
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OZIIANE R+ 50,000& *1E +x12& 600
-AMNSIEXERSY 70,000 x1H x12& 840
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OYE SOty 354,576,000 «1/ 128 *60%*23| 35,458
A& AtH]
469,058,0002 x1/12& 86%*1/30%19 21,291
O&J2HEHS 70,000& 1 282 1,960
X2 AH| 16,980 19,980 A 3,000
02 &= & xH| 16,980 19,980 A 3,000
52 250,000& x1H x12& 3,000
= 155,000 »3 x12& 5,580
O7= 140,000& x5 «12& 8,400
Jl2 &l 54,290 47,630 6,660
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